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' OBJECT ORIENTED PROGRAMMING WITH JAVA

' Time Allotted : 3 Hours Full Marks : 70

The ﬂgares in the margin indicate full marks.

Candidates are required to glve their answers in their own words
-as far as practicable

_ GROUP A
* (Multiple Choice Type Questions ) |
1. Choose the correct alternatives for the following : 10x 1 = 10
i D mty
| for (int i=o;1<14;1++){

if (1<10) {

J =;2 + i;

y

Systém.’oixt.prmtln (" 4§+ "L+ )
What is WRONG with the above code ?
a)’ Integer "j" is not initialized

'b) Nothing
¢}~ You cannot declare mteger i 1ns1de the for-loop
-~ declaration ~

d) The syntax of the "if " statement is 1;'1correct

e) You cannot print integer values wlthout converting
them to strings
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1) Which one of the following is a valid declaration of an

applet ?

a) Public class MyApplet extends java applet Applet {

-

"~ b) Public Applet MyApplet {

c) Public class MyApplet extends applet implements

Runhable{ o
B d) ‘Ab‘st'ract class MyApplet extends javé.applet.‘
Applet { ' '
~e) Class MyApplet implements Applet {
i) intvalues(]={1,2, 3,4,5,6, 7 8}
foxj‘(int"i=(‘);'i-<‘X; ++i)
System.out.printin (values:[il);

Referring to the above, what value for X will print all

members of array "values" ?

a) 1
b 7
¢ 8
/

d 9
e) None, since there is a syntax error in the array
declaration. - -
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iv) publrc int ml (mt x){
int count = 1; .
try{
count +%x;
count +=m2(count);
‘count ++;" . . - .
| .
catche (Exceptien e) { count —= x; }
 return count; .
) |
‘Referr’ing to the above, when m 1 (2) is invoked, m2 O

throws an Arithmetic Exception and m 1 () returns
- which one of the following ? ‘

a 1
b 2
c) 3
d 4

e)  The system will exit. 5
v) Which one of the following statements is FALSE ?
a) Java supports multi-threaded programming

b)  Threads in a single program can have drfferent.
priorities

c)  Multiple threads can manipulate files and get user
input at.the same time

d) Two threads can never act on the s/ame object at
'the same time

e) Threads are created and started with different
. “methods.
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| vi) 1 public static void main (S_trihg {1s){
2 String n1, n2, n3;

© 3nl = "nl"
4n2= "n2"; ‘
 5n3="n3"; S
6y | .
7 String nd = "inner";
- 8n2=nl;
9)
10k n3 = null;
11}

How many instances of the String will be eligible for
garbage collection after line 10 in the above code
. Snippet is executed ?

a) O

b) 1

c 2
-d) 3

e}  The code will not compile.

vil) Which code declares class A to belong to the
mypackage. financial package ? ’

. a) package mypackage; package financial;
~b) - import mypackage.*;
c) package mypackage.ﬁnanical.A';"
d) b_ import mypackage.ﬁnancial.*; _
€) package mypackage. financial;
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viil) JVM is
aj‘ A java package
b)': A java cpnipﬂer ,
¢} A system software
d) ' A java interface
e) None éf these.

ix) Size of Unicode is

a) - 2bits
_ b) 8bits
: ”c) 16 bits
@ 15 bﬁys )

e) mnone of these. }
'X)  Delegation .model is assoéiated with
a) Exceptibn Handling
'b) Garbage Collection -
) AWT |
d) Event Handhng

€) - None of these.
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~ GROUP-B
( Short Answer Type Questions )
Answer any three of the following. . 3x5=15

What is the dlfference between the’ PATH and CLASSPATH '?

B What is Java Vlrtual Machine ( JVM)? : 2+ 3‘

How can a programmer define a class that cdnnot be

. ‘_inherited ? Give an example. , ‘ . 5

What is the checked and unchecked: e:tception ? Describe

~ with proper examples B o 5

\What is the difference between the final finally, and

ﬁnalize ? k _ 5

What 4s applet ? Describe the life cycle of the applet. What

_are demerits of the applet ? ) : C14+3+1
GROUP - C
( Long Answer Type Questions )
Answer any three of the following. . 3 x 15 = 45

a)  What is thread ? How to create a thread in Java ?

b) that is'the need of synchromzed block ? Illustrate with
an example :

c)  How to override the equal fnnct‘ions’ ? (2+2)+7+4 |

a)‘ “Programmer can .call:' a constructor from another
constructor.” Explain with an example.

b) Write a GUI program in Java that will have two buttons
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viz., RED and GREEN. If user clicks on RED button the
background of the GUI will be painted in red or if user
clicks on GREEN button the background of the GUI will
be pamted green. .- 5+ 10
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9. * What is pol;xrmorphism‘? What are the types of polymo‘rphism\
| . present in Java ? Compare and contrast oirerloading and

overriding methods with proper examples. : 2+5+8
10. a) What is AWT '?'Diffgrentiate between corilponent' class

--and container class.

-~ b) What is an event ? What is event handling ? What is the

role of event listeners in this regard ?

c¢) Show by writing a ,complete. code along with the outpuf'
how multiple inheritance is implemented in Java.

I ~ Expla static import. 2424141424641,
11. Write short notes on any three of the folIOWing : 3x5
a) Interface |

b)  Package

¢) -Container class
- d) Exception handler.
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